## Quadratic formula

Real and complex roots

#### Quadratic formula

#### Solve the equation

$$ax^2 + bx + c = 0$$

#### **Methods:**

- Completing the square ✓
- Factoring
- Quadratic formula:

$$x = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$$

#### Example 1

Complete the square:

Solve 
$$2x^2 + 9x + 10 = 0$$

$$(x+d)^2 = (x+d)(x+d) = x^2 + 2dx + d^2$$

$$\chi^2 + \frac{9}{2} \times + 5 = 0$$

 $2\left(\chi^2 + \frac{9}{2}\chi + 5\right) = 0$ 

$$\left(x + \frac{9}{4}\right)^2 - \left(\frac{9}{4}\right)^2 + 5 = n^2 + \frac{9}{2}n + 5 = 0$$

$$\left(x + \frac{g}{4}\right)^2 - \frac{g}{16} + 5 = 0$$

$$\left(x+\frac{9}{4}\right)^2-\frac{81}{16}+\frac{80}{16}=0$$

$$(x + \frac{9}{4})^{2} - \frac{1}{16} = 0$$

$$(x + \frac{9}{4})^{2} = \frac{1}{16} = (\frac{1}{4})^{2}$$

$$(x + \frac{9}{4})^{2} - \frac{1}{16} = 0$$

$$(x + \frac{9}{4})^{2} = \frac{1}{16} = (\frac{1}{4})^{2}$$

$$(x + \frac{9}{4})^{2} - \frac{1}{16} = 0$$

 $2dx = \frac{9}{2}x$ 

#### Example 1

Solve 
$$2x^2 + 9x + 10 = 0$$

$$x = \frac{p}{q} : gness$$

$$p : s a divisor of 10$$

$$q : s a divisor of 2, 9>0$$

$$\rho = \pm 1, \pm 2, \pm 5, \pm 10$$
 $q = 1, 2$ 

$$f = \pm 1, \pm 2, \pm 5, \pm 10, \pm \frac{1}{2}, \pm \frac{1}{2}, \pm \frac{5}{2}$$

#### Factoring nethod:

$$2(-2)^2 + 9(-2) + 10 = 8 - 19 + 10 = 0$$

$$\chi = -2$$

x+2

synthetire divisory

$$2n^2 + 9n + 10 = 2\left(n^2 + \frac{9}{2}n + 5\right)$$

$$x^{2} + \frac{g}{2}x + 5 = \left(x + 2\right)\left(x + \frac{1}{2}\right) = 0$$

$$x = -2$$

$$x = -5/2$$

### Example 1

Quadratic pomula 
$$ax^2 + bx + c = 0$$

$$n = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$$

Solve 
$$2x^2 + 9x + 10 = 0$$

$$6^2 - 4ac = 9^2 - 4(2)(10) = 81 - 80 = 1$$

$$x = \frac{-9 \pm 1}{2(2)} = \frac{-9 \pm 1}{4}$$

$$plus: x = \frac{-9 + 1}{4} = \frac{-8}{4} = \frac{-2}{4}$$
minus:  $x = \frac{-9 - 1}{4} = \frac{-10}{4} = \frac{-5}{4}$ 

$$\Delta = b^2 - 4ac$$
 : discriminant of the quadratic polynomial.

If 
$$\Delta = -1$$

$$i = \sqrt{-1}$$

$$i = \sqrt{2}$$

$$i^{2} = -1$$

#### Arithmetic of Complex numbers

Rule:  $i^2 = -1$  real imaginary find this of alg: every poly. has a complex part part

Example: 
$$x = 1 - 2i$$
,  $y = 2 + i$ 

$$x = i i^{2} + 1 = -1 + 1 = 0$$

$$x = -i (-i)^{2} + 1$$

$$= (-i)(-i) + 1$$

$$= i^{2} + 1 = 0$$

$$2 = 2 + 0i$$

$$7 = 1 - 2i$$

$$4 = 2 + i$$

$$3 - i$$

$$3 + y = 3 - i$$

## Arithmetic of Complex numbers

Rule:  $i^2 = -1$ 

Example: 
$$x = 1 - 2i$$
,  $y = 2 + i$ 

$$\frac{x}{y} = \frac{1-2i}{2+i} = \frac{(1-2i)(2-i)}{(2-i)}$$

$$xy = (1-2i)(2+i)$$

$$= 2+(-2i)2+c+(-2i)i$$

$$= 2-4i+i-2i^{2}$$

$$= 2-4i+i+2 = 4-3i$$

$$a-bi$$
 is the conjugate of  $a+bi$ 

$$(a-bi)(a+bi)=a^2-bai+aki-b^2i^2=a^2+b^2$$

#### Arithmetic of Complex numbers

Rule: 
$$i^2 = -1$$

Example: 
$$x = 1 - 2i$$
,  $y = 2 + i$   

$$\frac{x}{9} = \frac{(1 - 2i)(2 - i)}{(2 + i)(2 - i)} = \frac{2 - 4i - i + (-1i)(-i)}{2^2 + 1^2} = \frac{2 - 5i + 2i^2}{5} = \frac{2 - 5i - 2}{5} = -i$$

$$-i = 0 + (-1)i$$

## Find real and complex roots of a polynomial

Example 2: 
$$x^3 + 6x^2 + 6x + 5 = 0$$

guess root  $x = \frac{p}{g}$ 

Rational roots test

$$q = 1$$

$$\frac{p}{q} = \pm 1, \pm 5$$

Synthetiz devision

cubic equation

$$\chi^{3} + 6\chi^{2} + 6\chi + 5 = (\chi + 5)(\chi^{2} + \chi + 1)$$

# Find real and complex roots of a polynomial

Example 2: 
$$x^3 + 6x^2 + 6x + 5 = 0$$

$$(x+5)(x^2+x+1) = 0$$

$$x = -5 \text{ is a root}$$

$$x^2+x+1 = 0 \text{ quadratiz formula}$$

$$x^2+x+1 = 0 \text{ quadratiz formula}$$

$$x = -1 \text{ b=1 c=1}$$

$$b^{2} - 4\alpha c = 1^{2} - 4(1)(1) = 1 - 4 = -3$$

$$\chi = \frac{-1 \pm \sqrt{-3}}{2}$$

$$\sqrt{-3} = \sqrt{3(-1)} = \sqrt{3}i^{2} = \pm \sqrt{3}i$$

$$\chi = \frac{-1 \pm \pm \sqrt{3}i}{2} = -\frac{1}{2} \pm \frac{\sqrt{3}}{2}i$$
Calze eq. has three roots:
$$\chi = -5, \quad \chi = -\frac{1}{2} + \frac{\sqrt{3}}{2}i, \quad \chi = -\frac{1}{2} - \frac{\sqrt{3}}{2}i$$

### Find real and complex roots of a polynomial

Example 2: 
$$x^3 + 6x^2 + 6x + 5 = 0$$
  

$$= (\chi - (-5))(\chi - (-\frac{1}{2} + \frac{13}{2}i))(\chi - (-\frac{1}{2} - \frac{13}{2}i))$$

$$= (\chi + 5)(\chi + \frac{1}{2} - \frac{13}{2}i)(\chi + \frac{1}{2} + \frac{13}{2}i)$$